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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[' setVI ETcl’,

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600 -

2400

2200

2000 -

1800 ~

Warning:col[-ECC " FVIEC ] is missing

10

20

30

40

50

60

70



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-9 0
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P3-9
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07:35 283 150.0 2.888 F  BRi%e07:35 Bz (RAERSE)
08:05 283 150.0 2. 888 5| {Ri%@08:05 Bz (KRAMERSE)
09:00 283 150. 0 2.888 E[ BRi%@09:00 BE1 (RAERRE)
09:50 283 150.0 2. 888 F[ BR1%e09:50 BE1 (RAERE)
10:30 283 150.0 2. 888 =l {Ri%@10:30 B3 (RAERSE)
11:05 283 150. 0 2.888 E BRige11:05 Bz (GRAERESE)
11:35 283 150.0 2.888 S {Ri%e11:35 Bz (GRAERSE)
12:05 283 150.0 2. 888 =l {Rige12:05 B3 (REAERSE)
12:35 283 150. 0 2.888 E BRige12:35 Bz (GRAERESE)
13:05 283 150.0 2. 888 5| {Ri%e13:05 B3 (GRAERSE)
13:40 283 150.0 2. 888 = RRiB013:40 B (RFAKESE)
14:15 283 150. 0 2.888 E BRige14:15 Bz CGRAEESE)
14:45 283 150.0 2. 888 = RiB014:45 Bz (RAEESE)
15:20 283 150.0 2. 888 =l RRiB015:20 B (REAEESE)
15:55 283 150.0 2. 888 = {RRiBe15:55 Bz (REAEEE)
16:40 283 150. 0 2.888 El BRi&e16:40 Bz CGRAEREEE)
29t 4811.0 (17& 2550. 0 323 KEC: 2080.0, PH: 5.8

HERRHUEME STEAERT (184.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
#H[EKECE (1877.0 vs 4573.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=66 (2025-06-07)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——————F- o]
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
2700 - 3000 ~
448 T
- 2000 \_E/
50 z
L 1000 &
182 Warning: lcol ['FVI',|"FVO'] missing 40
0 + -0
( 4
200 52.5
150 a B 50 0
Ll
|
100 + F47.5 =
50 F45.0
10 F42.5
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 ¢
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
400 BYInit [D68 01:59: ET=2375 Fg=3000.0 Ro=649.0 4000
1 C
| - 3000 =
I <
L E
200 - : 2000
i i
: - 1000 §
0 - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
a0l fE | F5 | BF | 5 | 5 | BF |’ [ /G | HF | 5 B B B B B B B B B B B B B B i~
1 C
ByEt @D66 19:09: ET=2414 Fg=2414.0 Ro=nan : - 3000 g_
<
i E
200 - 2000
'—
L
- 1000 §
[&]
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
a0l fE | 5 | BF | 5 | 5 | B5 | f5 [ /G | HF | 5 B B B A | M8 B B B B B B B B B )
1 C
ByWoFv I@D68 01:59: ET=2105 Fg=2550. 0 Ro=456.0 - 3000 g_
<
1 =
L E
200 - ! s 2000
i i
: - 1000 §
)—o—b—o0—0—o—o B |
1.0 — —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 M8 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
0.0
1500 A1 —_— 4
[ ] | _obs
1000 - —@— PPFD obs
500 -
—— RH 4
801 o RH_obs
RHo_obs
60
40 -
W e o ft
3 # \




m=435, FV0=0 m=470, FV0=0 m=505, FV0=0

49.5 A
5 | 474 —&— ME —e— ME o o ME
49. 0 50. 0 -
50 46 48.5
49.5 -
48.0 A
48
45 4 |
47.5 49 0 -
46 -
47.0 +
44
44 46.5 - 48.5 1
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 470 475 480 505 510 515
m=585,m FV0=0 m=615,m FV0=0 m=645,m FV0=0 m=675,m FV0=0
—&— ME —&— ME —&— ME —&— ME
50. 0 50. 5 A
48 - 49 -
49. 5 50. 0 -
47 i
48 49.0 49 5 4
48.5 A
46 - 49.0 +
47 - 48.0 +
48. 5 +
45 - 47.5 +
48. 0 A
T T T T T T T T T T T T
585 590 595 615 620 625 645 650 655 675 680 685
m=705,m FV0=0 m=740,m FV0=0 m=775,m FV0=0 m=805,m FV0=0
0 —&— ME 51 0 - —&— ME —0— ME —&— ME
: : 51.0 51.5 -
51 50.5 1 50. 5 1 51.0 4
50. 0 A _
.0 50.0 50. 5
49.5 A _
- 49.5 50 0
49. 0 1 49.0
.0+ 49.5 +
Py 48.5 48. 5
5 - 49.0 -
705 710 715 740 745 750 775 780 785 805 810 815
m=835,m FV0=0 m=865,m FV0=0 m=895,m FV0=0 m=930,m FV0=0
.0~ —&— ME —o— ME 52.5 -— ME 52.5 A —&— ME
52.0 A
5 1 52.0 - 52.0 A
51.5 -
° 51.5 A 51.5 1
51.0 A
5 -
51 . 0 _ 51 . 0 .
50. 5 A
0 -
50. 5 A
50. 5 A
5 50. 0 -
835 840 845 865 870 875 895 900 905 930 935 940



52.

52.

51.

51.

50.

38.

37.

37.

36.

36.

35.

39.

38.

38.

37.

37.

40.

39.

39.

38.

38.

37.

m=965, FV0=0 m=1005, FVO0=0
—e— ME —&— ME
5 52.5 -
0 52.0 -
9] 51.5 -
07 51.0 -
> 18 | | 50. 5 15 . .
965 970 975 1005 1010 1015
m=470,m FV0=0 m=505,m FV0=0
0 -
—— MW ®l 300 —o— MW
5 -
0- 38.5 -
5 38.0 -
0 -
37.5 -
5 -
T T T 37 0 T T T
470 475 480 505 510 515
m=645,m FV0=0 m=675,m FV0=0
39.5
04 —@— MW —o— MW
39.0 -
5 -
38.5 -
0 -
38.0 -
5 -
37.5 -
0 -
645 650 655 675 680 685
m=775,m FV0=0 m=805,m FV0=0
0 -
—o— MW —o— MW
5 40.0 -
04 39.5 -
5 39.0 -
0 - 38.5 A
5 38.0 -

780

785

805

810 815

37.

37.

36.

36.

35.

35.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

40

38 A

36

34

T
400

T
600

860
m=585,n FV0=0

T
1000

—— MW

585

590
m=705,n FV0=0

T
595

—o— MW

b

710
m=835,n FV0=0

715

i
i’

-— MW

835

840

845

36.

35.

35.

34.

34.

33.

38.

38.

37.

37.

36.

36.

40.

39.

39.

38.

38.

37.

41.

40.

40.

39.

39.

m=435, FV0=0

M_w

440 445
m=615,m FV0=0

650 6é5
m=740,n FV0=0

—o— MW

740

7&5 750
m=865,n FV0=0

- MW

865

870 875




m=895, FV0=0 m=930, FV0=0 m=965, FV0=0 m=1005, FV0=0

—— MW —o— mw | 4197 —o— MW —— MW
41.0 4 41.0 A
10 41.0 -
40.5 40.5 1
40.5 - 40. 5 A
40,0 - 40.0 -
40. 0 - 40. 0 1
305 - 39.5 -
895 900 905 930 935 940 965 970 975 1005 1010 1015
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P3-9

BfiE) | EBAK G | ERE (EAR/H) | ERERE (B/R) | XK R

06:30 283 150.0 2. 888 = {Ri%@06:30 B (RAERSE)
07:05 283 150. 0 2.888 E BRi&e07:05 Bzl (RAERERE)
07:45 283 150.0 2.888 E|  {Rige07:45 B3h (RE{EREE)
08:25 283 150.0 2. 888 & 1RiRe08:25 B (KREERE)
09:05 283 150. 0 2.888 E 1BRi&@09:05 Bzl (RAEREE)
09:50 283 150.0 2. 888 5| {Ri%@09:50 B3 (FAERSE)
10:25 283 150.0 2. 888 =l RRiB010:25 B (REAEESE)
10:55 283 150.0 2. 888 = {RRiB010:55 Bz (REAEEE)
11:25 283 150. 0 2. 888 =l Rige11:25 Bz (GRAEESE)
11:55 283 150.0 2. 888 =l {Rige11:55 B3 (RAERSE)
12:25 283 150.0 2. 888 S| {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.888 E| {Rige12:55 Bzh (RE{ERSE)
13:25 283 150.0 2.888 F BRige13:25 Ba CGRAERSE)
13:55 283 150.0 2. 888 S| {Rig@13:55 B (RAERSE)
14:25 283 150. 0 2.888 E BRige14:25 Bz (GRAERESE)
14:55 283 150.0 2.888 F BRige14:55 Bz CGRAERE)
15:25 283 150.0 2. 888 = {Rige15:25 B3 (RAERSE)
15:55 283 150. 0 2.888 E BRi&e15:55 Bz (GRAERERE)
16:35 283 150.0 2.888 5| {Ri%e16:35 Bz (GRAERSE)
17:30 283 150.0 2. 888 =l RRiB017:30 B3 (RFAEESE)
21t 5660.0 (20)%) 3000. 0 3EHKEC: 2080.0, PH: 5.8

HERRHUEME STEAERT (184.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
#HEKRECE (1820.0 vs 4292.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=65 (2025-06-06)

150 A

100 A

50

(¢
200 -

1700

2208

485

60

e v
FRV

Warning: lcol [FVI',| "FVO’'] missing

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2300

100 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5,

setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200

100 -

400

Bylnit

—————————es—

0

1

3

4

5

6

D68 02:00: ET=2411 Fg=3150.0 Ro=657.0

11

¥ 4000
- 3000
- 2000

- 1000

19 20 21 22 23

[

ER

S

[

i

[

i

ES
5]

ES = E3 E3 ES
5] B B B 5]

- 4000

300

200

100 -

400

ByEt @D65 19:08:

0

1

ET=2611 Fg=2709.0 Ro=nan

4

5

7

10

- 3000

- 2000

- 1000

19 20 21 22 23

[

ER

i

[

i

i

i

i

[

XN EFNEFIEFAN

- 4000

300

200

100 -

1.0

ByWoFv

D68 02:00: ET=2536 Fg=3000.0 Ro=602.

10

- 3000

- 2000

- 1000

18

19 20 21 22 23

0.8

E3

B

E3
B

XN EFNEFIERAN

0.6

0.4+

0.2~

0.0

1500 4

1000 A

500 -

—_—
[ ] | _obs
—@— PPFD obs

RH_obs
RHo_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



32.

31.

31.

31.

31.

31.

37.

37.

36.

36.

43.

42.

42.

41,

41,

40.

m=420, FV0=0
1.0
—e— NE
50
0.8+
45
0.6
40 7 0.4-
391 0.2 -
Warning: col ['M_E'] missing
T T T T T 0- 0 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8
m=625,m FV0=0 m=635, FV0=0
0 - M_E 33. 00 A . M_E
. 32.75 -
32. 50 -
8 -
32. 25 A
7 -
32. 00 -
6 31. 75 4
5 31.50 -
T T T T T T
625 630 635 635 640 645
m=720,m FV0=0 m=750,m FV0=0
—o— ME —o— ME
5 4 39.0 -
38.5 A
0 -
38.0 A
5 -
37.5 A
0 -
37.0 A
720 725 730 750 755 760
m=840,m FV0=0 m=870,m FV0=0
o]~ mE —o— WME
5 _ 44 .
0 -
43 A
5 -
0
42
5 -
840 845 850 870 875 880

m=550, FV0=0

36. 6

36. 4 1

36. 2

36. 0

35. 8

—0— ME

.0

T T
550 555 560

m=660,m FV0=0

34. 25 A

34. 00

33. 75 A

33. 50

33. 25

33. 00 ~

—o— M_E

\

T T
660 665 670

m=780,m FV0=0

40.5

40. 0 -

39.5 A

39. 0 -

38.5

—o— M_E

i

38.0 -

780 785 790

m=900,m FV0=0

46 -

45 -

44 -

43 -

—o— M_E

H

900 905 910

33.

33.

33.

33.

36.

35.

35.

34.

42.

41.

41.

40.

40.

39.

m=595, FV0=0
—o— ME
6 .
4 .
2 .
0 .
595 600 605
m=690,m FV0=0
07 —o— M_E
5 .
0 .
5 .
69')0 665 760
m=810,m FV0=0
0 -
—o— ME
5 .
0 .
5 .
0 .
5 .
81|0 81|5 SéO
m=930,m FV0=0
48 + —@— M_E
47 -
46 -
45 -

930 935 940




1.

27.

27.

26.

26.

25.

25.

34.

33.

33.

32.

32.

m=960, FV0=0

T T T
960 965 970

m=420,m FV0=0

Warning: col "MW 1] missing

m=635, FV0=0

T T
0.2 0.4 0.6 0.8

—_

—o— MW

635 640 645

m=750,m FV0=0

- MW

750 755 760

51.

50.

50.

49.

49.

48.

48.

28.

28.

28.

28.

30.

30.

29.

29.

28.

28.

35.

34.

34.

33.

33.

32.

m=990, FV0=0
—e— ME
990 995 1000
m=550,m FV0=0

—— MW

/
s
L

550 5%5 5é0
m=660,n FV0=0

—— MW

&

660 Gé5 6%0
m=780,n FV0=0

-— MW

i
i

780 785 790

51.

51.

50.

50.

26.

26.

26.

26.

31.

31.

30.

30.

35.

35.

34.

34.

33.

m=1020, FV0=0

- ME
1025 1030
m=595,m FV0=0

—— MW

660 665
m=690,n FV0=0

655 760
m=810,m FV0=0

25.

25.

25.

25.

25.

33.

32.

32.

31.

31.

36.

36.

35.

35.

34.

34.

660 760 860 960 10b0
m=625,n FV0=0

1T —e— mw

T T
625 630 635

m=720,n FV0=0
-o— MW
7&0 755 750
m=840,n FV0=0

1T —e— mw

840 845 850




m=870, FV0=0

37.5 A

37.0

36.5

36. 0

35.5 -

35.0

—o—

MW

870

8%5 SéO
m=990,n FV0=0

40. 25 A

40. 00 ~

39. 75 A

39. 50 ~

39. 25 A

39. 00 ~

—0—

M_Ww

990

T T
995 1000

38.0

37.5 4

37.0 A

36. 5

36. 0

40. 50 A

40. 25 A

40. 00 ~

39. 75 A

39. 50 A

39. 25 -

m=900, FV0=0

—0—

M_w

T
900

965 9%0
m=1020m FV0=0

—o— MW

T
1020

T T
1025 1030

m=930, FV0=0
39.0 - MW
38.5 A
38.0 -
37.5 A
37.0 -
T T T
930 935 940

m=960, FV0=0
40.0 - MW
39.5 4
39.0 A
38.5 A
38.0 A
T T T
960 965 970
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P3-9

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:15 283 150.0 2. 888 & 1RiRe06:15 Bz (KREAERE)
07:40 283 150. 0 2.888 E BRi&e07:40 Bzl (GRAERSE)
08:25 283 150.0 2.888 |Z=| {Ri&e08:25 Bzl (KREEZEHSE)
09:20 283 150.0 2.888 FA| {Ri%@09:20 Bz (RAMEEEE)
10:00 283 150. 0 2.888 PA| {Ri%@10:00 Bz (GRAHEESE)
10:40 283 150.0 2. 888 FA| 1BRi%@10:40 B3zh (RAERSE)
11:25 283 150.0 2. 888 FA| {Ri%e@11:25 Bzl (GGRAEEE)
12:10 283 150.0 2. 888 PA| {Rige12:10 Bz CGRAFESE)
12:50 283 150.0 2. 888 BH 1Bige12:50 Bzl (RAERE)
13:30 283 150.0 2.888 (Z=| 1Ri%@13:30 Bz (FRAERSE)
14:10 283 150.0 2.888 (Z=| 1Rige14:10 Bz (RAERSE)
15:05 283 150. 0 2.888 |Z=| fBRi&e15:05 Bzl (RAERESE)
16:20 283 150.0 2.888 (Z=| 1Ri%@16:20 Bz (FAMEHSE)
17:30 283 150.0 2.888 (Z=| 1Ri%@17:30 B3 (RAERSE)
23t 3962.0 (14%) 2100. 0 3ZHKEC: 2080.0, PH: 5.9

FHEKRECE (1773.0 vs 4075.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=64 (2025-06-05)

150 feeeeef————f——————f e ———— ] —————
V1, VO ®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2700 L 3000
100 2208
869 1700  J18{&;4 2000
50 -
Warning: lcol [FVI',| "FVO’'] missing 60
-0
#52
L 50
I-“I
L 48 =
L 46
44
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.9 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
400 4 Bylnit [2D68 02:00: ET=1842 Fg=2250.0 Ro=496.0 3000
1
1
300 + ! L 2000
200 - :
] L 1000
100 - :
p—©——@—
0 — — 0
0 1 2 3 4 5 6 7 8 9 T 10 [ i1 T2 1311415 16 [ 17 [ 1819 [20 ['2f [220 23],
4004 HE 5 5 | 2| B 5 B i FA [A A FA FA [A A FA 3] [A A FA FA [A A FA
1
300 4 ByEt @D64 19:03: ET=1778 Fg=1800. 0 Ro=nan : | 2000
200 -
L 1000
100
——& —
0 - —a 0
0 1 2 3 4 5 6 7 8 9 [0 ] i1 12 [13 714 [ 15 [ 16 [ 17 [ 18 [ 19 [20 ['21 [ 22 [23 [
4004 HE 5 5 | 25| B 5 B g | 2= M A FA EREAREEAEEA EEAEEA N FA BH |Z=|%2=]| KA
1
300 { ByWoFy D68 02:00: ET=1634 Fg=2100.0 Ro=426.0 000
|
200 A : I
] L 1000
100 - : i\
b o - © & N
L e B B e B A BRI PR B R R B B B EEE R R R R
0l B | R | M Bz | M | % | | 2= B | W | B | W (2222122122122 W | B W 2222 W
0.6 -
0.4 -
0.2 -
—
[ ] | _obs
—@— PPFD obs

J a~& e v #

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=485, FV0=0 m=530, FV0=0

50 51.5 51.5
501 —@— ME —o— ME —e— ME —e— ME
i 51.0
51 ' 51.0
50. 5 -
50 7 50. 5
49 - 48 - 50.0 1
50. 0
45 - 49.5 -
. 47 - 49.5 - 49.0 4
46 - 49.0 48.5
T T T T T T T T T T T T T
400 600 800 1000 420 425 430 485 490 495 550 555 560
m=595,m FV0=0 m=630,m FV0=0 m=660,m FV0=0 m=705,m FV0=0
51.5 _— 52.0
—o— ME : —— ME —o— ME —o— ME
51 0 _ 51 . 5 T
. 51.0 A 51.5 -
50. 5 51.0 -
50 5 N 51 . 0 _
i 50. 5
50. 0 50. 0
50. 5 - 50,0
49.5 - 49 5 :
50. 0 i
49.0 49.0 4 49.5
485_ T T T 485_ T T T 495_ T T T 490_ T T T
595 600 605 630 635 640 660 665 670 705 710 715
m=760,m FV0=0 m=810,m FV0=0 m=855,m FV0=0 m=900,m FV0=0
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